Lesson 15.

Read Chapter 12

Logarithms
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Other log functions

log, x is the inverse of a*
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properties of log

. In()<y)=y|nX ) )OSb X% = 5 lo&bﬁ
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> logpx = =
EbX = Inb In(ee)
> 7% — ellna)x a = e

> In(xy) = In(x) + In(y)
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Solve the following equations
1. beX % =2

In(&x-q) =]h(,-&5—)
g = W (2)
x = {4 ln(z/j-)
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X = ¢
37 = :g%_
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Solve the following equations

1. 5In(5x +2) = 3

In(5x+2) = 3/5
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log (Sx=«z 3 or
23 P
Sxt2 = &
e &
S

ln (5x+2) _ _3
bn (Z)
[h (5x+2) 3 In(2)
= €&
3- In(2)
Sxxl2 =
jx: e-lnfa)oS _ 2

S5



ln (ln x )
X= 1 ) ‘n(\nlz:)

2
@ |h(é>:—o°69
@ In (-0.69) 27

|
T )

| [ln > ) what s The domeain?
@ Comggﬁa ln x X2
@ CO/M_?J‘I‘Q [Vl [[_m_(} | x > O .SoP\,Q

5o K

3 e (x> 1)

AN



Solve the following equations

1. logyb = logs(7 — x) S ~ )\/1[7-"7()
log_ 5 o9. (%-
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X = + -3 In3-n5 _ Jh[l—x)
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Exponential functions in standard form

f(X) — Apa< - Stan derd Jorm
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Rewrite in e form
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Convert f(x) =

2
3x—4

to the form Apek~
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